TASEP

2009 2



ASEP TASEP
TASEP




ASEP TASEP




ASEP

000 @




1.3 TASEP
ASEP

t=0




TASEP

ASEP







=100 @ . B .

98 T T T T T T T

“ktine.dat” +

step

og L L L L L L L L L
a 168688 268688 Jeoae 48686 aeeae Gaaaa Faaaa faaaa 966868  166606¢



プレゼンター
プレゼンテーションのノート







プレゼンター
プレゼンテーションのノート
１/２×Ｌ　個





98

88 r

8 r

68 r

o8 r

38 r

28

18

+

A o n
+

"datal,dat"”

+




L=50,L=100,L=150 [3=0.2
a=1.0-0




L=100,x=1.0,[3=0.2

98 T
find

"ktine, dat" +

8a |
78 |
.
60 - i
o,
i
50 [

<48

33

28

1 1 1 1 I 1 1 1 1
a 16888 28888 308808 48888 isllsl] 600808 L1 ilslalal:) o0888 18886¢

step

n(t)=A-Bexp(-t/T

fitting
AB,T
fit



1.0 [

0.2°

10



4580040 T T T T T

“Inln.dat™ +

-
4188888

¥

3500040

I-r_l_

Joaana

258808

208888

1588088

188888

50088 | ++p




1e+006

T

188088 -

18860

o [3=0.2

"Inln.dat™ +

1
a,.e1 a.1

0.008

o, = 0.2,0.2

— AR

logt=-Alogla—[3 + log A

\Q

A=8627
A=0.766







2)



1e+B06

18688848

1886808

"Inlni11, dat™

+
“"Inlnii.dat™
T “"sannzyuul ,.dat" ¥
+
4+
+
#
- A
. ]
]
+
N k4
o
-
+
L X
A
+
I +
£ " ++
*
# K LI S S 5
* ]
# ¥ B O¥ oy
+
+
+ + 4 + ++
1 1
8,81 a.1




A 0.089

A=0.719

A 0.980



0.5

"/

70




(0.1 0.1) (0 2 0.2) (0.3 0.3)
A

(0.1 0.1) A 0.98

(0.2 0.2) ‘ A 0.85

(0.3 0.3) A 0.73



18686806

1968808

(0.5 0.5

“Sénnzguh2.dét"l
“sannzyuu3.dat ™

+
H







	スライド番号 1
	目次
	スライド番号 3
	スライド番号 4
	スライド番号 5
	スライド番号 6
	スライド番号 7
	スライド番号 8
	スライド番号 9
	スライド番号 10
	スライド番号 11
	スライド番号 12
	スライド番号 13
	スライド番号 14
	スライド番号 15
	スライド番号 16
	スライド番号 17
	スライド番号 18
	スライド番号 19
	スライド番号 20
	スライド番号 21
	スライド番号 22
	スライド番号 23
	スライド番号 24

